8. Exploded Views and Parts List

8-1 Exploded Views

8-1

Samsung Electronics



Exploded Views and Parts List

8-2 Main Parts List

Ref. No. Parts No. Description Specification Q'ty | Remarks
1 DE70-30029Z PANEL-OUTER SECC T0.6 W405.5 L1174.8 SC-WH 1
2 DE63-90035G CUSHION-RUBBER DFA20 T2 W190 L100 BLK 1
3 DE61-50073D BRACKET-UPPER ALSTAR T0.6 W273 L432 MB6544W 1
4 DE61-70060A SPRING-PLATE SK-5T0.5 1
5 DE61-30006A SUPPORTER-HEATER ALUMINA 5G 2ND-W/P 1
6 DE47-70031B HEATER-GRILL D6.8 230V 1400W 37.00HM RE-130 1 ° A
7 DE60-40009B WASHER-TEFLON SLOT ID22.2 0D28 T1.2 TEFLON 1
8 DE63-20017A GASKET-HEATER BRASS T1.5 0D30.5 1D22.5 1
9 DE60-90006A FLANGE-RING C3604BD 1D22.1 0D26 L4.7 MBGF4 1
10 DE61-50347A BRACKET-EARTH BSS2-A T1.0 W35 L43 MBGF45 1
11 DE61-50115A BRACKET-HEATER BSS2-A T1.0 W55 L55.5 M9GF45 1
12 DE39-40409A WIRE HARNESS-E 230V50HZ M9G45 CTW 1 i
13 DE39-20058C ASSY POWER CORD KKP-4819D/B232 250V16A L1700 G 1
15 DE91-40042A ASSY NOISE FILTER DNA-1019C 250V 10A CMO-CERAMIC 1
16 DE71-60134A COVER-BLOWER SECC T70.8 W152 L157 1
17 DE61-30129A SUPPORTER-PCB DASS-TON 4
18 DE31-10086G MOTOR-FAN AMM92-002AUEB-1 230V/50Hz 2550 1 L4
19 DE65-20031A BUSHING DASB-16N 17.8X6.3 NYLON NTR SH 1
20 DE47-20041A THERMOSTAT CS-7SA 160/60 PAWA 1
21 DE92-90078A ASSY-CASING RE-1300 230V EUROPE 1 ° A
22 DE71-60058C COVER-BACK SCP2(CR) T0.6 W385.5 L275 BLK- 1
23 DE39-40683A WIRE HARNESS-A 230V50HZ CE1279KSE RUSSIA 1
24 DE63-90062A CUSHION-RUBBER DOOR RUBBER(CR) T9 W30 L50 RE-1300 1
25 DE61-30132A SUPPORTER-MGT SECC 70.6 W38 L342.5 MW6630T 1
26 DE91-70101B ASSY-THERMOSTAT RE-542 160/60 187TYPE 1 L4
27 DE47-20007A THERMOSTAT PW-2N(160/60)187Z 250V7.5A 160 1
28 DE61-50490A BRACKET-TCO SECC1 T0.6 34 58 1
29 DE03-30035A MAGNETRON OM75PH((31)ESS 1 A
29 DE71-60303A COVER-AIR NYLON#66 95G RE-1300 BLK 1
Kl DE63-90002A CUSHION-AIR POLYURETHANE-FOAM T4 W30 L50 R 1
32 DE93-20020A ASSY BODY LATCH RE-43B/90B 1
33 DE66-40021A LATCH-BODY POM(F20-02) 50G RE-330 1
34 3405-000178 SWITCH-MICRO 250V 15A 200gf SPST-NO 1
35 DE72-60106A GUIDE-S/W ABS BLK 1
36 3405-000175 SWITCH-MICRO 250V 15A 200gf SPST-NO 1
37 DE66-90054A LEVER-SWITCH POM(F20-02) 15G NTR RE-330 1
38 3405-000178 SWITCH-MICRO 250V 15A 200gf SPST-NO 1
39 DE61-50106A BRACKET-HVC SECC T0.8 W31 1L125.8 1
40 2501-001029 C-OlL 1.05uF 2100V BK 35x54x90 20mm 1
41 DE59-40001A DIODE-H.V HVR-1X-32B-12 1
42 DE91-70061B ASSY-H.V.FUSE THV060T-0750-H 5KV0.75A RED 1
43 DE26-20005C TRANS-L.V SLV-751E2 230V 50HZ AC11/17.5/ 1
44 DE26-10042B TRANS-H.V Y9245NTC-1 230V 50HZ AC2230V M 1 o A
45 DE61-40064A FOOT PP BLK 4
46 DE65-20025A CABLE CLAMP DAWS-2NB NYLON66 NTR WIRE SADD 2
47 DE64-90038A DECORATION-FOOT PC 200G RE-751 1 L
48 DE80-10038A BASE-PLATE SGCC1-Z T0.8 W360.5 L588 RE-75 1
49 DE61-50081A BRACKET-COVER MOTOR SGCC1-Z T0.6 W219.8 L280.3 1 N
50 DE93-90003A ASSY-ELEVATION RE-751/652 1

8-2 Samsung Electronics



Exploded Views and Parts List

8-2 Main Parts List

Ref. No. Parts No. Description Specification Q'ty | Remarks
51 DE71-60313A COVER-CEILING MICA SHEET T0.5 W48.5 L117 RE- 1
52 DE67-40064A GLASS-LAMP GLASS T3.0 W28 L15 RE-751 1
53 DE91-70155A ASSY-LAMP RE-652/751 CERAMIC 1
54 DE39-40641A WIRE HARNESS-S AC220V60HZ GAS_SENSOR RE-753 2
55 DE39-40613A WIRE HARNESS-D 220/60HZ RE-644 DOMESTIC 1
56 DE61-50301A BRACKET-COVER SBHG1-A RE-707GMS 1
57 DE32-60013A SENSOR-GAS ST-MWO 1
58 DE32-10013A SENSOR-THERMISTOR PT-312-K2 1 * A
59 DE72-60035L GUIDE-AIR SECC (T)0.6 (W)240 (L)242.5 RE 1
61 DE92-40001P ASSY DOOR CE1279KSE(SBTW) WHT HANDLE 1 * A
62 DE92-90018B ASSY-TRAY SUB STS304 RE-751/652 1 ¢
63 DE74-20045A TRAY-CERAMIC RE-909CG 1 ¢
64 DE74-20107A TRAY-BROILER SPP 0.8T 345 345 345 ENAMEL SI 1 ®
65 DE74-20022A TRAY-OIL GLASS(NEOREX) T5 PI210 600G 1 ¢
66 DE92-90334A |  ASSY-LEG MOGF45 1| ®
67 DE92-90433A ASSY-SHAFT BARBECUE CE979GSE STS304 D6 1 ®
68 DE72-80062A SHAFT-BARBECUE STS304 D3 L149 W60.25 CE97 6 ¢
69 DE92-90019P ASSY-WIRE RACK CE1279KSE HIGH 1 d
70 DE92-90019Q ASSY-WIRE RACK CE1279KSE LOW 1
71 DE01-00051B FILM-LAMP T0.25 W105 L85 CLEAR RE-751 1
72 DE62-90046A ADIABATIC-RIGHT T3 W219.31214.8 RE-1300 1 o
73 DE71-60294A COVER-ADIABATIC SECC T0.6 W249.7 L353.5 RE-130 1 ¢
74 DE63-90065E CUSHION-LAMP PUT-FOAM T40 W10 L90 M6245 1

® : Option Parts

A :Warning

A Electrostatically Sensitive Devices

Samsung Electronics

8-3



Exploded Views and Parts List

8-3 Door Parts List

Ref. No. Parts No. Description Specification Q'ty Remarks
1 DE64-40078J DOOR-A PC 110G WHT CE1279KSE 1 o A
2 DE67-20033C SCREEN-DOOR-B TEMP.GLASS T4 W260 L378 BLK Cl 1 L
3 DE64-40079A DOOR-SUB PC NTR 60G RE-751/652 1 L
4 DE92-50002F ASSY DOOR-E SELANT BLK 1
5 DE64-40173A DOOR-C PBT BLK 24G RE-1300 1
6 DE64-20024A HANDLE-DOOR PC BLK 89G RE-751/652 1 L]

7 DE64-40175A DOOR-KEY POM(TC3005) BLK 13G RE-330 1
8 DE61-70041B SPRING-KEY ES HSW3 PI0.7 D4.9 BLUING RE-7 1
9 DE60-60073A PIN-HINGE MOLD 4 17.5 2
10 DE68-10001A LABEL-BRAND AL SAMSUNG S/S 8.0 50 1 ®
11 DE61-80037C HINGE-UPPER SCP1 T3.0 W26 L76 ZP2C-W MB245 1
12 DE61-80006B HINGE-LOWER ZP2W T3.0 ZN(PLATING) RE-552 1

8-4 Samsung Electronics



Exploded Views and Parts List

8-4 Control Parts List

Ref. No. Parts No. Description Specification Q'ty Remarks
1 DE92-90439T ASSY-CONTROL FRAME MOLD&FILM CE1279KSE GRAY 1 o
2 DE72-70088P CONTROL-PANEL PC 140G WHT CE1279KSE 1 L
3 DE92-90443C ASSY-BUTTON START CE979GSE CIS 1 L
4 DE91-10497A ASSY P.C.B-MAIN RC-753-02 230V50HZ VFD CE1279 1 * A
5 DE64-10049A KNOB-COVER ABS NTR 9G RE-642 1 ®
6 DE66-20071A BUTTON-SELECT-E ABS NTR 20G RE-751/652 1 o
7 DE66-20070A BUTTON-SELECT-F ABS NTR 20G RE-751/652 1 o
8 DE66-20272E BUTTON-SELECT(D) ABS NTR 20G RE-751W 1 L4
9 DE66-20073J BUTTON-SELECT-C ABS 20G WHT CE1279KSE 1 °
10 DE66-20074A BUTTON-CAP ABS NTR 20G RE-751/652 1 L
11 DE66-20066A BUTTON-SELECT-B PC NTR 6G RE-642 1 L
Samsung Electronics 8-5



Exploded Views and Parts List

8-5 Standard Parts List

Parts No. Description Specification Q'ty | Remarks
DE60-10012A | SCREW-TAP TITE TH + 3 M4 L10 SWR10 ZPC2 TOOTH 1 NO-FIL
DE60-10012A SCREW-TAP TITE TH + 3 M4 L10 SWR10 ZPC2 TOOTH 1 P-CORD
DE60-10012A | SCREW-TAP TITE TH + 3 M4 L10 SWR10 ZPC2 TOOTH 1 EPCB-E
DE60-10013A SCREW-ASSY TAP TH 2S 4 L12 MSWR3 ZPC3 FIBER 1 C-CLAM
DE60-10013A | SCREW-ASSY TAP TH 2S 4 L12 MSWR3 ZPC3 FIBER 2 COVF/M
DE60-10016A SCREW-ASSY MACHINE TH 4110 STS430 2 F/MOTOR
DE60-10018A | SCREW-ASSY MACHINE PH M4X0.7P 8 MSWR10 SN1 WS 2 B-EARTH
DE60-10034A SCREW-TH TH + M4 L10 STS304 1 TEMP
DE60-10046A | SCREW-TAP PH PH M3 L8 FEFZY 1 MGT-TCO
DE60-10052A SCREW-TAP PH PH M4 L8 FEFZY 1 B-H-UPP
DE60-10080A | SCREW-WASHER M5 L12 2S 4 HVT
DE60-10080A SCREW-WASHER M5 L12 2S 4 MGT
DE60-10082H SCREW-A 25-4X12 TOOTHED 1
DE60-10082H SCREW-A 25-4X12 TOOTHED 7
DE60-10082H SCREW-A 25-4X12 TOOTHED 3
DE60-10082H SCREW-A 25-4X12 TOOTHED 1
DE60-10082H SCREW-A 25-4X12 TOOTHED 12
DE60-10082H SCREW-A 25-4X12 TOOTHED 2
DE60-10082H SCREW-A 25-4X12 TOOTHED 4
DE60-10082H SCREW-A 25-4X12 TOOTHED 2
DE60-10082H SCREW-A 25-4X12 TOOTHED 1
DE60-10082H SCREW-A 25-4X12 TOOTHED 2
DE60-10082H SCREW-A 25-4X12 TOOTHED 5
DE60-10082H SCREW-A 25-4X12 TOOTHED 1
DE60-10098A | SCREW-ASSY TAP TITE PH TC M4X8 SWRCH18A ZPC2 GLD W 4 ELEVA
DE60-10122A SCREW-TAP TH TAP TH 2-4X8 FEFN 2
DE60-10122A | SCREW-TAP TH TAP TH 2-4X8 FE FN 2
DE60-10122A SCREW-TAP TH TAP TH 2-4X8 FEFN 1 LAMP
DE60-20014A BOLT-FLANGE M5 L10 MSWR3 FEFZY 2 HI-LOW
DE60-20014A BOLT-FLANGE M5 L10 MSWR3 FEFZY 2 HI-UPP
DEG60-30016A NUT-FLANGE M4 MSWR10 1 TEMP
DE60-10045A SCREW-TAP PH PH M3 L6 FEFZY 1
DE60-10098A | SCREW-ASSY TAP TITE PH TC M4X8 SWRCH18A ZPC2 GLD W 4
DE60-30016B NUT-FLANGE M4 MSWR10 FEFN 1
DE60-10012A | SCREW-TAP TITE TH + 3 M4 L10 SWR10 ZPC2 TOOTH 1 HVD
DE60-10082H SCREW-A 25-4X12 TOOTHED 4
DE60-10193A | SCREW-TAPPING TH M4 125 MSWR18 FEFZY YEL 4
DE60-10045A SCREW-TAP PH PH M3 L6 FEFZY 1

8-6

Samsung Electronics



